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LIl w 200 g 54 32 | Wkha = OIE 10 ke 2, 160 —
LA = B 250 g 108 54 | SU ' & 10 ke 5, 400 1, 404
ZEDOR & 200 g 54 32 | TAAINME— = B 270 g 378 194
EINATED & M 200 g 86 54 | QDD = B 270 g 378 194
Fh&E = R 8 ke 3, 024 540 | I ASEDH BE A 270 g 453 —
Lo AEL X Bk 160 g 75 64 | T—IVA AT 0 9 ke 15, 660 11, 880
PN A B g 10 ke 540 —
FEEEIZA T A IR B 10 kg 1,188 756
i< W % M 15 ke 864 216
e SN A 10 ke 864 - 540
L&A kE E 10 ke 2, 700 2, 268
oY E IR 5 ke 2, 052 1, 836
Aach = A 5 ke 2, 052 -
k= b g A 4 ke 1, 296 —
B & Al 150 g 97 —
L x BB 10 ke 1,944 | 1,836
| =FnE Ab¥EE 20 ke 3, 564 3, 024
A LWzt 5 100 g 162 97
LT £ ¥ 100 g 48 43
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T FORR L 1 ke 756 108 | #Z = a7y 1 ke 1,836 1, 296
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T RN 1 ke 1, 080 432
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Z7 BRE 1 ke 1, 782 864

U5 & 1 ke 1, 836 432




